Trigonometry Practice Questions
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3. One ship observes a second ship 6km away to the north-east. The first ship sights a flare due
east. For the second ship, the flare is due south. How far is each ship from the flare?
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5. A guy wire is fastened 6.2 m from the base of a hydro pole. Find the length of the guy wire
and how far up the pole it is fastened for each of the following angles of elevation.
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6. Triangle ABC contains a right angle at C. Find the value of sin 4 if:
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7. Considering that cosa = = wheré 0<as< 180 and sinb = —whereé < b < 90) determine

the value of each of the followmg trlgonor,\etrlc expressions.
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8.1f cosx = —and 0 < x < 90, determine the value of each of the following: —
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10. Given sin @ = 0.788, find the values of 8 ove(O <x §3~§91

11. Givencos 8 = —0.2_5?8, find the values of 8 ove|\360 <x<720.
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Radians and Arc Length

12. Express each of the followin
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g S)ngle measures in radians. Express each answer in terms of .
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13. Express each of the following angle measures in degrees.
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14. In which quadrant will the arc representing each real number terminate?




17. What is the arc length of pQ
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18. What is the arc length of PQ
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